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S06: Analysis of Structures

1. Determine the force in each member of the truss, and state if the members are in

tension or compression. LR EIZRHTZ2 N &A4T A 77,
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2. Determine the force in members CD and GF of the truss and state if the members
are in tension or compression. Also, indicate all zero-force members. [k &7~
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3. Determine the force in members KJ, KC and BC of the Howe truss, and state if the
members are in tension or compression. [k 7 Howe JZ 7 42 H T KJ, KC,
1 BC N1, IR RIEZEZ K. ]
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4. Determine the horizontal and vertical components of reaction that the pins A and B
exert on the two-member frame. Set F = 0. L3R ElR PIFT I 22 7EB: 32 55 A A1 B
Ab P s2 KA E R AE 1. W F=0.1
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